RC 250 R Rookies 2013 <2013><EU><F8199M1>

CLUTCH COVER
14122

Pos Part Number Description Additional Text Quantity
1 M3230001044 CLUTCH COVER CPL. 1.00
2 M3230025000V01 CLUTCH COVER GASKET 1.00
3 M3230085000 OUTER CLUTCH COVER 1.00
4 M3230085001 OUTER CLUTCH COVER GASKET 1.00
5 0402050980 needle roller DIN 5402 5x9.8 2.00
6 0760122407 SHAFT SEAL RING 12X24X7 PTFE 1.00
7 0770060015 O-ring 6,00x1,50 NBR 70 1.00
8 0908080013 PLUG M8X1 DIN 908 1.00
9 0025060106 HH collar screw M6x10 TX30 1.00
10 0770050015 O-RING 5,0X1,5 1.00
11 61030019050 CIRCLIP OIL LEVEL GLASS 03 1.00
12 78030095100 OIL LEVEL GLASS VITON 1.00




13 SB806450200 OILPLUG 1.00
14 0770191015 O-RING 19,00X3,00 NBR 1.00
15 0025060506 HH collar screw M6x50 TX30 5.00
16 0025060256 HH collar screw M6x25 TX30 7.00




